RKCA4T-5/TXL

RITESMERES B4 . PUR — Connection cable

M12x1 215 ~514

i

50

BAREIE
bk RKCA4T-5/TXL
®5 6625501
BERHA #3k, M12 x 1, B, A-coded
HE%E 3
il = 4F , Cuzn , S
AR E B TPU, B
FEIEF B, TPU, B
E IR RET 4, Cuzn, B4
Seal B, FPM/FKM
5D > 100 IR
EREE 3
RpEE IP67, IP6IK, REIFERST
B4
KEER @ 4.1 mm +0.20
SKEKE 5m
SEFE PUR, B
Sk s PP
LOHEER 3x0.34 mm?
REL , WE 42 x 0.1 mm
SEHG BN, BU, BK
BAMEE@20°C
HEIEE 250V
izt B 2000 V
B 4A
#8 XBR > 30.5 MQ/km
Em ek R AE 57 Q/km

R
cus CE UK | |roHS Ipaok

LISTED ' n compliant DEGREE OF
PROTECTION

£5)0)0)0) e

g /

(! =
Yaaac I

M Female M12, straight, 3-pin

NHFEME : PUR

NP EHE : 26

NEATiEsE

bR, REAL, Mh

B ESMHEMRM (UL 1581 FT2, IEC
60332-2-2 )

LNyt Yo

BFEXE. G5, PVCHLABS

45 5 T EE R

BB ER : IP67, IP6OK

WEHEKE :50m

SLEBME

b R4 B

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|3

RKCAT-5/TXL | 25-02-2025 02-26 | R B R AR ME R



FAREIE 2
AL B 1BN 3BU
THEE (BERRE) > 5x0 =
TH¥E (FM) > 10 x@
TR >585
FY R 87 5m/s? B
B KT BB E 5m (5 m/s? i) . N
B EEAERE 2m (5 mis?Ed ) | ; | o
BB EE 3.3m/s IL_3_ > Jl BU
H A + 180 °/m
FHERE (BT ) -50...+80 °C
RERE (#B3) -25...+80 °C
HERE (HB4E) -25...+60 °C
AE cULus
B 44
HAS8141-0 6905406 HAS8241-0 6905400

=46.8

0153 5
14

I =5 I

>
A
M12x1 13

BS8141-0

=60.4
5
0202 18

TORQUE-WRENCH-SET-AS

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|3

P L N KERERS |, M12 x 1,
B A4, BERITER , B4
#4.0-5.1 mm, XHEBEH/KRHEE
0.14-0.34 mm? , BRH% , S EER

69010

MFAEL N KIERERSE , M12x1 B
B a4, EREREARIERE  BAFE
P A4.0E6.0 mm , ESEEE/E

KR REF0.1420.75 mm? , B
AR, EEEIEIRET

6936170
BERFER ; LB TRMRE04-1.0
Nm , AFM8 (SWO)HBERFE , A
FM12 (SW 14 R F

DZ AL N KERERS , M12x1, B
AR A4, BERTER , BYH)
%4.0-5.1 mm, £ THRBE/LRHREE
0.14-0.34 mm? , B¥\% , € EERF

}Illl H

(I
|
2

BS8241-0

42.6
©20.2

M12x1 o =33
18

69011

Mg ELEREE , M12x1, B
R, 45, IREER LA | &8i5I%
4.0F6.0mm , LSEBHEAZEET
AEA0.14F0.75 mm? , BRISFE |
&8 B BB

2913

BLANK-LABEL-FOR-CORDSETS-TEL-TXL 6936206
TEL # TXL &4k , KE : 18
mm, SE :4mm , #¥  REERE
(PC), Bifs : A2, TEX%E , M

RKCAT-5/TXL | 25-02-2025 02-26 | R B R AR ME R



e BE %5

LABEL-HOLDER-FLEX-PVC 100048170 AFFREKEBMPVCIRERX ( TEL/
TXLF=@RRH )  EANLEER . &
N5mm ; R 74 x 18 mm ; BFEM
1% . S8504

Hans Turck GmbH & Co. KG | 45466 Milheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 3|3

RKCA4T-5/TXL| 25-02-2025 02-26 | R EHAR ML K



